4STEP £# I GBiRfR) #f2\V\CAT2 http://toitemita.sakura.ne.jp

L FREN3 EROFREKX
168

1)

(-2,6) & (0,3) %38 2 EARO HFERIT y = 36

0-(-2)
3

@ﬁﬁ:@ﬁ%iﬁ%éﬁ%,w~54+%ﬁ3.wzé

(x—0)+3 .‘.y=—%x+3

@)

(14) & (- 1,0) &30 B B skl y =2

Jx—D+4 n2y=(t-4)x-1)-8

(2) N ZOERECH DN, —2.2=(-4ft-1)-8 ~t-5)=0 ..1=05
i
HL72 2 R D55 Off & 07
)

(-2,6) £ (03) Z B D EMOMEE = (-2,6) & (4,¢) ZBHEMROMEE LV,

3-6 __t-6 ;t:—%-6+6:—3 =3

Ml 5HEMROMEE=(1,4) & (1,2) 2 @OEMROMEE LV,

frmr
5
N
SN—
N
|
—_
k;
-
L e

T i (t-4)e-1)=4 t(r-5)=0 t=05



